
x y
0 10

1 30

2 90

3 270

If it is exponential, 
how do we find the 
growth factor?

Divide "up the table"

Warm Up

Below is a table of data.  Is it linear or 
exponential?

11/20

x y
0 10
1 30

2 90

3 270

This is the work expected when asked 
a question like this.



Finding Growth Factors
Some growth factors are easy to find just by looking at the 
table.

x y

3 2

4 10

5 50

6 250

x y

1 46

2 552

3 6624

4 79,488

What if it's not that easy?

x y

1 46

2 552

3 6624

4 79,488

x y

3 3

4 6

5 12

6 24



Problem 1.3 Recap





Classwork

Page 19, #'s 15, 17-21, 51



Homework

Finish classwork


